1 (Sem—2) MDC 01-09
2025

MULTI DISCIPLINARY COURSE
Full Marks : 45

Time : 2 hours
The figures in the margin indicate full marks for the questions

Answer the questions from any one Option

OPTION—A : Natural and Physical Sciences in Everyday Life
Paper Code : MDC0200103

OPTION—DB : Foundations of Mathematical Sciences—II
" Paper Code : MDC0200203

_OPTION—C : Information Sources and Services
Paper Code : MDC0200303

OPTION—D : Personal Financial Management
Paper Code : MDC0200403

OPTION—E : Humanities and Social Sciences—II :
Democracy and Peoples’ Rights

Paper Code : MDC0200503

OrPTION—F : Information and Communication Technologies—II
Paper Code : MDC0200603

OP'!‘ION—G : Life Sciences and Environment
Paper Code : MDC0200703

OPTION—H : Understanding the Changing Environment
Paper Code : MDC0200803

OPTION—I : Business Economics
Paper Code : MDC0200903
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OPTION—A
~ Paper Code : MDC0200103
( Natural and Physical Sciences in Everyday Life )

1. Answer the following as directed :

©eTe fraIRaRR Mot ee fim -
. (o)

1x5=5

is the simplest amino acid.
(Fill in the blank)

¥ eeT G 9B | (1) 3% o7 F9M)

OHOWI i i

P, R I froiom woR GPREB 0T ST 2
(i) Cement / %
(i) Glass / aw
(i) Ceramics / oo
(iv) Plastic ;
astic / #Ifes (Choose the correct answer)
(= Tewch! 1R Sferean)
(c) What is the full form of MRI?

MRIS 7§ Soich1 3 9

(d) Write the names of the two electrodes of a battery cell.
QO PR «BR TGS TR AW B |

e
() The four elements most essential to every living thing are

FFCRN G I SRS @R ey (e sIRRY 24
() H, C, N, O

(@) H, C, N, F
(@) H, Li, N, O
(iv) H, C, O, S , (Choose the correct answer)
(w Tewhl AR Sfrea)
A25/690
[2] ( Continued )

2. Answer any five of the following questions : 2x5=10

R 2PIERE R @Iea oo Tew fua -

(a) What is the name of natural monosaccharide found in fruits

and honey? Is it soluble in water?
FOE IF @@cwmmwwmﬁ?iﬂﬁ@ﬁ@
_[A?
(p) What is nuclear battery?
fRedr @O &2

() What are vitamins? Why are water-soluble vitamins required
in small amounts daily?

e e 2 1w REbRePrR o g oA B e

|7

(d) Mention two differences between soap and detergent.
PR WE SRS Ted ! < Bre 4 |

(e) What are micronutrients? Explain the role of iodine in our
body.

WW@NW%%?me’WWﬁ,WW|

() What are called future fuels?

SRy T IR PRI A?
(g9 Define peptide bond.
coiefbiae e T i |
(h) What é.rp germicides? Give one example.
ez & 7 b ST firam
i) What are the constituents of greenhouse gases?
ivaR o T & 7
() Write two examples of pesticides.
o 1 T oo
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3. Answer any four of the following questions : 5x4=20
T PRARA R e ik T fram |
{a) Explain the steps of wastewater treatment.
3fEfS <A FeNETT NLIRBT WM I |
(b) Write five differences betw i
oty een primary and secondary battery
T A N @OIR IR o) <ATO01 =irefe foram |

"fc) What are beverages? Write the thr.
. : ee classes of s i
with their functions. ports drinks

AT R 7 3oTe age RRRY 1 —
fora ’ e PEPTR

(@) gow many 'car})on atoms are present in glucose molecule?
raw the chemical structures of glucose and fructose. 1+(2+2)=5

WWQWW@@WWW? AR SR 80

(e) What is soap? Give the chemi
cal n .
uses of soap. ame of soap. Write some

DI fF 27 SIS IETRTN
o | ' W o1 PR (FRBEE IR e

i) W:hat is solution? What are the different types of solution?
Give examples of the following types of solution :

w7 weq fifen 2R [ % 7 oo wovza Swrad fm
(i) Solid in liquid solution/S3eT® (5131 *Iq G
(i) Solid in solid solution/(sMHre (G *Md W&

(g9 What is emulsion? Write different types of emulsion with
examples. :

oRwd % 7 Seued [ifen eeremze Ry SR & |

(h) Write a short note on any one of the foflowing :
oot it R (i @b @O 5Y (o foray
(i) Greenhouse effect/CTo&R goR”
(i) Acid rain/S3 I

A25/6
/690 [4] ( Continued )

- 4. Answer any one of the following 'questions : 10

oY YRR R e @b e fum -

What are conventional and non-conventional sources of
energy? Write briefly about three non-conventional sources
of energy. What are the benefits of using non-conventional

sources of energy?

RIS AR SRS R BT B 7 RBR aery SRS
57 BT ST TRE Bl | e e eRR FRe [

CoITa TR 2

(@)

10

! (b) () What are colloids? How is a colloid different from a solution?
| What are the methods used in preparing a colloid? 1+ 1+3=5

| .
' zs’awﬁﬁ?aﬁa’ﬁwmaﬁmﬁmf@ﬂ?am
! 51 oS TS B B o1l serg I W ?

What do you mean by natural and synthetic pesticides?
Explain with the help of example.

AT E— R R R A S G

(1) c

What are pollutants and contaminants? What do you

mean by heavy metal poisoning? Discuss about the toxic
effect of Cd and Hg on human health. 1+1+3=5

& =1 ﬁ{?ﬂ@ﬁ@‘l{ﬁ\ﬁﬁ{ﬁl?w

| A WE TR
@S Cd W% Hed RUe oo 1 e F41 1

in detail, about the classification of protein by

(¢ 6

(i) Discuss,
giving suitable examples of each class. 5

AR e T Trrrr o't cRiReER RIa e
AT 90 |

(d) () Discuss the different sewage treatment methods.

ks <1 e RS rafemR I !

(i) Describe any five non-conventional energy resources.
R A1 51 SerRIeTe *Rea SR R 361 41 )
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OPTION—B
Paper Code : MDC0200203

( Foundations of Mathematical Sciences—II )

1. Answer the following questions : 1x5=5
SO 2P e o

(@) “If a number is divisible by 9, then the number is divisible by
3.” Find the contrapositive of the statement.

‘“Ffr @b MWW 9@ o™ =W, (5@ RINH 3@ Remy 231" ‘s:m\
ReRie e SfRechr forn |
(b) How many different types of salads can be made from

6 vegetableé?
6RY "F-osfis RamRY oIS IR R 2

(c) If HAPPY’ is coded as JDPSA’ and DANCE’ is coded as
‘FDNFG’, then what will be the code for ‘CLASS’?

afi ‘HAPPY’ *Rib¢ ‘JDPSA’R (&WI W W¥ DANCE’ *F(oRe
FDNFG'( 0GR T, (908 ‘CLASS’ *Ribre foea J&r iR 2

(d) If p stands for 1+1=2" and g stands for ‘2+3= 8’, then find
the truth value of pvg.
M 1+1=2" IR pE TF ‘2+3 =8 IINH gRF TER WA, (OB
pVvgs IeH R

(e/ What is the relation among mean, median and mode?
T, NN S TEIPI W T 2

. Answer any five of the following questions :

oo £PEARR R e “fobr Tee i -
(a) I ~ means %+, ¥ means %, 4’ means “~, X means %, then
which of the following equations is correct?

afi —g ud @, Y3 K, w7 ud <, KT o ¥ T, (@ TN

@CE TN T W ?
(i) 36x4-12+5+3=420

2x5=10

(i) 42+4+5x8-2=26
(i) 43x7+5+4-8=25
(i) 36-12x6+3+4=60

A25/690 [6] ( Continued )

(p) Find the median of the following data :
19, 25, 59, 48, 35, 31, 30, 32, 51
If 25 is replaced by 52, then what will be the new median?
oot fran O o[ N ety 4
19, 25, 59, 48, 35, 31, 30, 32, 51
i 259 SR 52 A, (903 Tgw vyl F TI?

(c) Solve 5x-3<3x+1, when x is an integer.
S 90 5 —3 <3x+1, TS x b1 SO A |

(d) How many quadﬁlaterals can be formed from 10 non-collinear

points on a plane?

QU STEeTS 4@ 1061 SR R o1 RHT TogE 97w FRI AR 2

How many natural numbers are there between 192 and 2027

192 o 2023 Ters REDt Tk TR W ?

er 897359y7x2 is divisible by 72, then
st value of y?

(e)

() If the 10- digit numb
what is the value of (3x — y) for the possible greate

W 72% 791 10 BRI M 897359y7x2 R =, (@ yI VW
sHifde TR A Bx -y I TN Eme
(g9 How many integers between 1 and 500 are divisible
1 9F 5009 foess 3 S scaﬁ—rw R Rwh e KM XF,
e vy

Under what condition, the AM and GM of two
numbers a and b are equal?
5 TEMACH oI MR R a WS b3 TR MY WE LTSI Y

W 7I?

by 3 or 5?

positive

(h

() What is the sum of the coefficients in the expansion of

8
1
2x-—| ?
(x-%)
8
(2x—L2) < oo TRorara T R 2
X
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1]

3. Answer any four of the following questions :

If A is the brother of B, B is the si
’ ster of Cand Ci
of D, then how is D related to A? C1s the father

A tx® BY ©f%; B (W& CI & 97 C
IR 0te A R 3571 R ? "R DY G, R

OoR AT R @i viiReR Ses fan

(a)

(b)

(c)

()

(e)

A25/690

The angle of elevation of the top of a tower is 30°. On walkin

20 m<.etres‘ nearer in the direction of the tower, the angle gf
elevation is found to be 60°. Find the height of the tower °
951 BT RYF *i1 Bo 11 30°. WHOR fve 20 FOR wea wifdee
MR TH (19 60° T | TIHR Tl Aefa 3741 |

f\ traig F’)dasses by a signal post in 30 seconds and 125 metres
ong bridge in 45 seconds. Find the len
ong brd gth and speed of

G (FEIOH 30 (IYT Wb SIS Y61 WF 125 0K Mwe o w3
45 (Y SOFT IR I/ | [N vl FF [ e 711

The ratio qf three consecutive terms in the expression of
(1+x)" is 1:7:42. Find the value of n.

(1+x)"7 gl G @fie oM 2R SIS 1:7:42. nid 7 Refy
<411

A rectangular piece of paper 11 cmXx4 cm is folded without
overlapping to make a cylinder of height 4 cm. Find th
volume of the cylinder. ©

11 cm x4 cm SRORFR FoE GRe e/[eiR TIMS S s oy

9T P61 FCA T, 'S PEROR Twot 4 cm H | Qi wToR
(qrfer) fef 41 | T o

Find the sum of the following :

o It s 9 :

10
Y2k +3k?)
k=1

Sx4

20

[8] (Continuea)

(9)

(h)

The means of two samples of sizes 50 and 100 respectively are
54:1 and 50'3, and standard deviations are 8 and 7
respectively. Show that the mean and standard deviation
of the combined sample size of 150 are 51:57 and 7-56
respectively.

50 S 100 W=R 751 eforfq Wy wew 541 W S0-3, WE A
fRpfe @ 8 W% 7 = | 1t gw fnfa T 150 W, (93 (ST &
g oforfa g o e Rpfe @ 51-57 < 7:56 |

The father-mother of a person is 2, grandfather-grandmother
is 4, great grandfather-great grandmother is 8, etc. Find the
10th previous hereditation of a person.

a& A 2 T eI, 4 T TI-SIEDI, 8 T SCHER-ACE-SHZ0!
WWIWWNW@HWW oo FE SR Sferea |

If X and Y are two independent random variables, then show

that they are uncorrelated.

o X oI Y I o7 AHE o W, (908 (TS @ TR T R

4. Answer any one of the following questions :

7 AR R @RAl @B e i

(@)

A25/690

(i) If the sum of three consecutive terms of an AP is 21 and

the sum of the squares O
the terms.

aﬁwaﬁa%ﬁﬁ@ﬁ@mmﬂwzlwﬁé@wz

CuorEa 155 T/ | omeaon & & 2

(i) The difference between the AM
is 16. If the ratio of the nu

numbers.

f the terms is 155, find

and GM of two numbers
mbers is 1:25, find the

10

3

71 SRy T WG TE G TR Renes 16, TR PR

wwnzsi’mwn@xﬁﬁs?

(i) In an AM, the sum of
the next 10 terms is
10 terms.

first 10 terms is 30 and that of
-170. Find the sum of the next

AR WY GOR AW 1031 oRe R come 30 WIF O RS
10%1 e M3 s -170. T5eq A 1001 FE T (O]

Shorea |

3
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(b) (i) In how many ways can a group of 4 labourers be formed OPTION—C
out of 10, Paper Code : MDC0200303
10 &7 FRR W R R Rt 4 S TR/E W @B o wR ( Information Sources and Services )
A 1. Answer the following questions : 1x5=5
(1) a particular labourer is to be included in each group? 3 T 2PARS TS i
G& ROW IRF ARSI 7770 o1 =7 2 . .
@) articular lab fa) What are the two main types of information sources?
a particular labourer is to be excluded fi ) :
group? rom each 3 : OYR TR I 19 LORS AN
- T o1 3 P 2 2 | (b) Give any one example of primary documentary sources.
i) Fi ' R T B Twreaer a1
(i) Find the term independent of x in the expansion of | Primary documentary sourcelIid
(2x+ 12) | 4 . (¢ What are secondary sources of information?
> o ¢ Bt I B @2
(2x+3 ) TS TR ofrean el | (d) What is the full form of SDI?
x2
SDIR 7=} FC1 & 2
(c) The number of runs scored by two cricket players Riyan and : ) What is biography?
Sanju in ten different innings are as follows : o
GoRo 7
o T2t (4la Ram o1 =g 71 RS TRe SRR T IR v e
e : 2. Answer any five from the following questions : 2x5=10
Riyan ‘ o1 R e <fvbr Teg
ﬁ;; : 46 120 76 42 04 51 37 84 13 02 TR SRS
Sanj ‘ | (a) What do you mean by interlibrary loan?
an, |
¢ " 12 115 06 73 07 19 79 36 84 29 ' Interlibrary loan 3fwe £ 3812
| i between print and electronic
(i Who is more consistent? 5 (b) Write down. the difference
e (R wfvhre sources of information.
i SR print ¥ electronic %Qm &R N o |
(i) Who is the better run scorer? S (c) Write the difference between indexing and abstracting
GRS T HRT ? | services.
‘ Indexing Wi abstracting CRR R N
(d) Distinguish CAS and SDL
CAS W& SDIF ¥¢ ¥4 |
A25/690 [11] { Turn Over )
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() What are the geographical sources of information?

SR SN AR & R 2

()  Write the difference between dictionary and encyclopaedia
AP WIF Roarers Fres e fora o '

(g9 What do you mean by digital literacy?
fRfse sl e R @ 2

(h) Give any two examples of Web 2.0.
Web 2.03 R lca1 o1 Twree fian |

() What do you know about the terms ‘misinformat;

‘disinformation’ on social media. - on’ and

()  What are e-books and e-journals?
e-books W'e-joumals &2

3. Answer any four from the following questions :

Coq HNCART [ [ e vk Ses gy - 5x4=20

(a) Write about document n
ary and non-docume
o tary sources of

©Y] documentary S¥ non-documentary <59 Ry o

(b) Write about the evaluation of reference sources

SYPIREE G JereR R o o
¢/ What do you mean by media convergence? Write its impact
Media convergence o & &1 ? R 2SR T Bray >

(d) Write the use of social networking platform for library
Services,
RO GRS CFqe ST (bl coibwta e Racy ey |

A25/690
! [12] { Conti
nued )

(e) Describe any five types of database of e-resources.

2-57q R @I 4R THIAE 36 F41 |

() - What is a dictionary? Write about the uses of dictionary.
wfoym .7 Sfowme 9T Raey o o

() Write about the importance of referral service in libraries.

SFIIRS referral serviced &g FICE B |

(h) What do you mean by digital media ethics? Write its
importance in present-day context.

e Mo el IR R T 7 TENW TS orwIeibe WA &FY
i fordn |

4. Answer any one from the following questions : 10

©T AT R R @ @b e o

(a) What do you mean by documentary sources? Explain various
types of documentary source of information.

Documentary source@R 3fFwe & IWM? SR documentary
sourced ﬁm oTe] e I 70

(h) What is reference service? Differentiate between long-range
reference service and short-range reference service.

opRel a1 7% 7 Long-range 2PR% Gl 9% short-range PRI CHAN

NYIPIR TCE T !

(¢ What are bibliographical sources? Write the wuses of
bibliographies in research work.

Bibliographical ©< e & @ EEIE (R bibliography?
Fragd TS o |

(d) What are digital reference services? Write the characte
and importance of digital reference service.

ﬁ%@ﬂm@mﬁ{iﬁﬁm%ﬁﬁamﬁmmmw
oy TS o

ristics
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1.

OPTION—D
Paper Code : MDC0200403

( Personal Financial Management )

Answer the following as directed :

were fraarRs fRorpR Tew for -

‘(@) What is bond?

SPIRToRE WA 2

(b) What is the maximum duration of the financial instruments

(d)

(e)

A25/690

traded in money market?
I IS I 791 R TR A SEEsi Ry 2
iy Less than a year/Y3zqo(3S Y
(i) Six months/®IR
(i) Three months/fFR
(iv) One year/433=3
(Choose the correct answer)
(o Tewht AR Bhie)
Name the broad market index of NSE.
NSER Rege o9 SPpeIes M 5 2
(i SENSEX
(i) NIFTY
(i) HANG SENG

(ivy DOW (Choose the correct answer)

(%% Tt a1k Sren)

Pie chart is a tool of technical analysis,

o 7 T2 R R b1 e (95 ¢t s o

What is fundamental analysis?
e Romd I 2

[14]
( Continueq )

1x5=5

2. Answer any five of the following questions : . 2x5=10
. ware fan e R e b e o o

(a) State the concept of investment with examples.
Trreeepe RiAcasR qren mn 01
(p) What is primary market?
o I&E A & 2
(c) State two advantages of pension fund.
coteen i o1 R oy
(d) Mention two instruments of money market.
1 TR o1 S SCE ¥
(e) State two features of capital market.
o o o1 ¢ SeEd ¥
() Mention two participants of derivatives market in India.
S coarTes owmwmwﬁamm*«wr
(g) State two benefits of investing in mutual funds.
Qe JRre < Rivme™ 1 Ry e 390
i d
(h) Write two differences between fundamental analysis an
technical analysis.
@Wﬁmqwmﬁmwm@ o1& ol |
i)  Write two differences between primary market and secondary
market.
e IT WE (N TERE WS o1 N o |
() Mention two benefits of investment in gold.
s Riffcer o1 R Tead T
A25/690 ‘ [15] ( Turn Over )



4. Write short notes on any four of the following : 5x4=20
wore facae R @ oo o[ 5 (o fora -

'{a) Investment environment/ Rz AR

(b) Non-security form of investment/SI-2fels FoR R
(c) Contents of a prospecms/Wﬂ R R

(d) -~ Insurance/3™

(e) Foreign exchange market /% Rivw @@

() Securities market/ 2fSpie] &

(g9 Types of derivatives market/ (SAiRreihe IR AR

(h) Benefits of stock exchange/ 2% Rirce=e YRR

4. Answer any one of the following questions : 10
R 2PAARR R I @b T8I fam

() What is investment decision process? Discuss the various
steps involved in an investment decision process.

ﬁﬁWﬂﬁWﬂWWﬁi?ﬁﬁmﬂﬁmﬁmﬁﬁﬁmﬁm
WNW.WWI

(b) !’:‘.laborately discuss the various methods of issuing securities
in the New Issue Market.

W%WWWWWWWW
791 SR

i i ;1. the three main
(c) Dlscus.s, in detail, components of fund amenta]
analysis.

@ﬁwﬁm«%ﬁﬁ’[ﬂ%wmﬁ@mww,

(d) Discuss the structure and limitations of Indian Money Market.
@ T TR M AE AARFOICAN SCAGA] 31 |
[16]

A25/690

OPTION—E
Paper Code : MDC0200503

( Humanities and Social Sciences—II :
Democracy and Peoples’ Rights )

1.  Answer the following as directed : ' 1x5=5
oo FraaR] RoPrpiR Tes fo

(a) Constitution is the supreme law of the land.
' (Write True or Failse)

SeRYA PR A S | (1 G SPTe) orel)
(p) Write any oné feature of citizenship.
At R G < CafiEs
(c IsIndiaa truly federal country? (Write Yes or No)
SR G4 2POIdS TEIE T ? (= @ 7= o)
(d) In which year was the Right to Information Act enacted in
India?

() Who is the author of the book, Democracy and Its Critics?
Democracy and Its Critics WA R T (A ?

2. Answer any five of the following questions : 2x5=10

wﬁmm«ﬁm»‘fm%@aﬁm;

(@) Mention two civil liberties of people.
R 7Ry (TR SRR S 0

(p) Write two differences between constitutional law and ordinary

law.

W@Wwﬁawmmqwm@rmwm|

(© Write two means of acquiring citizenship according to the
Indian Citizenship Act, 1955.
yhea W@ﬁ@ﬁmﬁwwﬁﬂwﬁmﬁwuﬁm@\%ﬂmﬁm

A25/690 [17] ( Turn Over)



(d) Mention two features of MGNREGA.
MGNREGAZ 701 ¢85 Stay 341 |

(e) Mention two essential conditio
ns for su i f
) . ccessful WOl'k]ng (&)

TSIE IS el PG AT SRR 551 56 e 97 |

(i Mention two aspects of right to equality.
SR SRR 101 vl Sray w41

(g) Write the full forms of NRHM aﬂd NUHM
NRHM ¢ NUHM 3 ST el 151 o |

(h) Mention two political rights ‘enjoyed by the Indian citiz
, ens,
RO AHRFTRC TeACeIel 1 B AT SRPR Beme 347 |

(i)  Write two differences between Federation and Confederati
on.

TR WIF ISP TG 11 ~N14F s |
(i Mention two hindrances to good citizenship.

SIIRTES 701 AfTeel ey 3 |

3. Write short notes on any four of the following :

o AT R GO DRGSR 5 T ot Sx4=20

'fa) Significant features of liberal democracy
TrReRIT s1TeFd Sk (IFERTR

(b) Right to food
YW SRS

(c) Difference between Citizen and Alien

ToRE S R Irod A1F

'A25/690 [18] ( Continued )

(d) Essential conditions for successful working of democracy

SIS TFETORR FRINR FRICH o] Boren
(e) Provisions relating to education in the Constitution of India

RS RS AR Frer sTiF PR

() Relationship between people’s rights and democracy

TPTYRR SRIR S 407 o T2F

{9) Globalization and citizenship
fRPIrE SIF TRFF

(h) Representation in democracy

AToFO ﬁﬁo‘ﬁi@

4. Answer any one of the following questions : 10
<o firn 2 R @ @b e o

(a) Discuss critically about National Health Mission.
I Y ST R TRICAGAGF SO SHHICHr |

(p) What is the significance of dissent in democracy? Discuss.
sieres TorAe oike & 7 S ¥4 |

(0 What do you mean by federalism? Discuss the features of
federal government.

Wiﬁmﬁ{m?{@ﬁmwmwwu

‘(d) What is civil liberties movement? Explain its importance in
democracy.

meWwﬁ?ﬂWW@WWWW|
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OPTION—F fe) What is octal number system?
Paper Code : MDC0200603 Octal number system % ?
Informatio dC uni i
( n and Communication Technologies—ll) () What is grey code?
1.. Fill in the blank : : 1x5=5 Grey code &2
AN O o[ F :
| {g) What is LAN?
(a) is ‘a programming language. - LAN R 7
€1 i om : ‘
: (h) What is physical media?
(b) The full form of Unicode is . Ph sic.al media %7
Unicoded % o[h1 ¥ | ysieat '
, . I
(c) The full form of ASCH is . ) What is Wi-Fi?.
ASCIR T 25 ____ 1 Wi-Fi &7
(d) ____ is a wireless communication technology. () What is Internet?
_ @51 OR AR oS | Internet &7
. d nf .
) —_1saw ?o conferencing platform. 3. Answer any four of the following questions : Sx4=20
@51 ffR¥S’ conferencing 9% |
o7 Al 2peai R el wiRem s fors
2. Answer any five of the following questions : 2x5=10 ‘ (a) What are the characteristics of an algorithm?
oS R 2PeaRs R GRIe Ao e foray b1 @ Ry ARRIAR & 6 2
fa) What is digital technology? - . .(b) () Convert (27);, to binary number.
fofeichet argfs 6 2 (27);0 FRIF binary SRYTS FeEI I |
(b) What is flowchart? (i) Convert (56)g to decimal number.
Flowchart & ? (56)g FRAE decimal SRYTS FABI 41 |
() What is algorithm? () Draw a flowchart to find the largest of three numbers.
@RI 12 | 5T =49 TreaCHt SRR flowchart S |

(d) Write, in brief, about digital transmission.

(d) What is digital information?
Digital transmission3 R¥c¥ o3¢ foran |

ffeicher v 2
[20] A25/690 [21] ( Turn Over )
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(e) Write a ‘short note on Wi-Fi. ' OPTION
Wi-Fi 9 @[S @51 o CBrel o |
. Paper Code : MDC0200703

( Life Sciences and Environment )

() Prepare a list of common types of networking devices. ]
- S 1. Answer the following as directed : 1x5=5
\D \D N\
S (1 (o SR SR 27 F4 | wore AT RErTpiR Tes B -
_ a) Which of the following i q
(g) Write, in brief, about any one of the programming languages. @ ) g is a consumer?
! To (Ol G¥ SolceTE! =l ?
R @ o1 o' s R sy B
fi) Plant/%fe"

(i) Algae/CTNR

(h) What is video conferencing? What are the components of video _
conferencing system? E (iii) Fish/IR

Video conferencing f%? Video conferencing system< BAMER (iv) Phytoplankton/w H

&R , (Choose the correct answer)
. (o Teach! AR Sferean)
4. Answer any one of the following questions : 10 (b) Which of the following is an example of sedimentary cycle?
oS T 2ARE R G @b Ted o - | oo CITCHT Coffd v a1 TR =W ?
(i) Oxygen cycle /SRR 5F
(@) Write an algorithm to convert a decimal number to binary. | ' ' (i) Water cycle/STD&

461 decimal SRYIF binary ¢ TR IR @b «@Rem foren | (ii) Sulphur cycle/TER 5F

(iv) Carbon cycle/IHA &
(Choose the correct answer)

‘f | (o Sh Ak SR

(c/ In a food chain, producer occupies trophic level.
(Fill in the blank)

(p) How is information represented digitally? Explain.
o (IS foficbaace represent F W7 [ 91 |

() How to set up a LAN network? Explain.

mneworkmmquﬁ?mw. i : qmmqw@@wm__&nﬁ%wmn
| . (AR 7% o[ M)
X tes on : . ~ | (d) Ozone layer is present in ____ of atmosphere.
(d) Write short no e Sx2=10 ‘1 - : (Fill in the blank)
foran : *
vy, | W'Y BACH A S AR (4 2% *3 )
() Chat application | | () Write the full form of BOD.
[ WWW 1 BODA 37 F¥IC0! i |
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. 2. (@) Distinguish betw , - | :
guish between (any three) : 2x3=6 3. Write notes on / Answer the following (any foun : 5x4=20

sirefer o (R ¢ FofbY) :
woTe TR @ers o foran/Tew e (R e i)

(i Producer and Consumer . :

BT SIF TorerS| (a) Scope of environmental science/*Re R R

Q .
' ' (b) Carbon cycle/IWA oF

(i) Food chain and Food web '

A R4 S 3T G : - (c) The role of biotechnology in pollution control

\ | oyt FrrgTe PR S i

(i) Parasitism and Mutualism (d) Characteristics of population/SFPRYE IFEFRR

{ (e) Discuss the causes of global warming.
(iv) Biotic and Abiotic components of ecosystem | Cmmqﬁﬁ PP S 4 |
- o ® () Different layers of atmosphere/IANeTR KRR TIFIR

(g) Define biome. Write four characters of tropical rainforest.

(v) Natality and Mortality rates in population
| s i o | G e oo L

SRS o A 9
(vi) Primary and Secondary pollutant (h) Greenhouse effect/ GITER AR

eefie S (N AT :
| 4, Answer elaborately (any one) : 10
(b) Write on the following (any two) : ox2=4 ity e (R @ aB1) :
wore TRAIIRT €°19® forar (R e 1) : . | (a) Discuss the impact of climate change on living organisms.
: ooy~ FoT0 EGE 8°S ] SR A A 91 1
(i) Dissolved oxygen : ‘
TAgS w3 ‘ (b) What do you mean by water pollution? What are the different
‘ 1 sources of water pollution? Discuss the effects of water
(i) Ozone layer depletion pollution on living organism. 1+4+5=10
Y’ I ; qﬁa@qqﬁmﬁiw?ﬂﬁﬁ@«ﬁhw sormz & 7 SR emwe
o . o) SR HORPTRR ST S 1 |
. a8 munity
(iij) Biotic com 1 © Describe the flow of energy in an ecosystem.
el TR ; WWWWW‘I@J@WI
(iv) Ecological succession ‘ : (@ Write an essay on sustainable development.
e AR , e R 87 Q3 o1 o
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OPTION—H
Paper Code : MDC0200803
( Understanding the Changing Environment ) -

1. Answer the fonoixring questions : 1x5=5
©F 2PTRY T fian

(a) In which year was the Kyoto Protocol adopted?

R 3% cofan R (e 2

(b) In which area of the world is the concentration of Bushmen
Tribes found?

HRRNT P TS IR0 TGS @RI S 7T ¢RI T 2

(¢) Who is the father of Green Revolution in India?
TR CToe Re g 19 @ =0 9

(d) Which toxic gas was responsible for Bhopal Disaster”?
@O RS (/=3 MR P oo Sikafoe Cafee 2

e) In which layer of the atmosphere does the temperature
decrease with the height?

IREGT (P! TI© THOT G ol wics! Taeer I IR 9

2. Answer any five of the following questions in very short :  2x5=1¢
o 2P *R1 R @I <M Tew wfe vyt fa -

(a) Mention the components of environment.

offRCP BAMFPTR TCEY 9 |
(b) Write the gaseous composition of the atmosphere,
qREGTT (oRA 15 TICE o
.(c) Mention the role of water vapour in the atmosphere,
TS WA ST G S
125/690 [26] ( Continued )

(d) What is lapse rate?
CTPR W FIF QXA ?

fe) Mention the types of biodiversity.

e CAfba SPTPTR e F91
() What is ecology?
sRRfRem F1F Qe ?
(9) Distingtiish between natural_ and artificial ecosystem.
g s gl RfReaR T e forar |

(h) What is food chain?
< R4 FIF (0 ?

i) What is the role of decomposers in an ecosystefn?

e bre R ghel & &9
() Name the greenhouse gases in the atmosphere.
TRRGTS T COEPR TR N foran
3. Answer any four of the following questions : 5x4=20
. wH] PP Nl R @ FiReE Tes frm ;-
(a) Discuss about the structure of atmosphere.
A iAo RACH e 41 |
(b) Wfite a note on hydrological cycle of the earth.
o1 ST ¢S b Rt
(c) Discuss briefly about the concept of balanced environment.
ST AR LRS! FYLF SO ¥ |
(d) Discuss about the flow of energy in an ecosystem.
51 RRfTTe @ e 2[R SICL 41 |
[27] ( Turn Over )
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(e) Write the causes and control measures of water pollution. OPTION—I

SR SRR PR P A |
o PR for Paper Code : MDC0200903
() Discuss about the causes of Tsunami and its impact on ! { Business Boonomics
environment. 1. Choose the correct answer of the following : 1x5=5

TR AR IR S ARG €17 2R ASR S| 31 | wore AT oE Seweh AR Sferear

(g9 Write a note on man-made disaster with suitable example in (@) Which e folowing is part of microcconomics?
: <o (! R TeYE ?

Indian context.
(i) National income

SRR (rFIete We-338 qrdioR R Tirarr ¢t B 3@ 11| |

_— N B oW
rite a not ildli i :
n;[ e on the Wildlife (Protection) Act of India. | (i) Unemployment problems of society
SReT IRl () WiZAT e b Gl g | ! e e S
4. Answer any one of the following questions : ! w Fiscalmpo};’lg ornesen
10 | o
o PR o1 R (e @i T i | ) I~ -
T : (iv) Price determination of a product

{a) What is biosphere? Explain the characteristics of biosph \ <o e T e
.y . s ere
and state its interrelationship with other segments of the ! (b) If the quantity demanded of a commodity is unresponsive

to change in price, then the demand of that commodity is

environment.
@ See IFEPIR R ]
@qﬁs? ‘W”F:N T Rfdw e u qﬁaﬁﬂﬂﬁ’ﬁﬂﬁm‘ﬂﬂmﬂﬂ?ﬂﬁﬁwﬁﬁﬂmﬁm,m
TR e Ty 790 | | A o
(b) Explain the human adjustment in equatorial bjom | (i) perfectly inelastic /™ L (E{CEGME
mountai_nous biome. e and i clastic /fi?ﬁ:@%
@) unit clastic/ ¢33 FoRF

' S ore] I AR TS AT
R CPTo AR A LA K plete elastic/7™ E (SN

(iv) com
when the output of a firm increases, the

¢) Write a note on the relationship betw ]
“ and environmental degradationp etween population growth (c) In short rum,
. average ﬁxed cost per unit of a firm will
gﬂ:ﬂqﬁmqﬁmwwwmew@mi% o 2R < et e AT, CoReA 2! B
| gagqﬂalb’
PR GRS
(d) Discuss how deforestation and desertification contripy | (i) increase/?@q |

climate change. € to : . (i) remain constant/ﬁa = A

AL [T S Wq @A G ARTETS B e I}, (i) decreaSC/?&-m ] .

KAl (iv) disappeal [T R

[29] Turn Over
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Which of the following statements about the demand curve
of a firm under monopoly is true?

ﬁmwaﬁaﬁoﬁmﬂﬁmmﬂﬁvowmﬁﬁwv

() In monopoly market, demand curve of a firm exhibits
positive relationship of price and demand.

mwaﬁﬁmmmﬁmwwm
AT P |

() In monopoly market, demand curve of a firm exhibits
inverse relationship of price and demand.

i) In z‘m?nopoly market, demand curve of a firm does not
exhibit any relationship of demand and price.

ﬂﬁmmﬁmﬁ%mwmmﬁmmwwmﬁm
CPICAT S (T |

(iv) Only in the time of ending of monopoly market, the
demand curve of a firm shows the relationship of demand
and price.

awiﬁmwmwﬁ‘mwmw&mwmwwﬁm
AR CTYam |

Which of the following is an example of market form where
the firms are price-makers?

T (P! G IR BRI T'S AR 11 Riefiag o
(ij  Oligopoly
FoiceoR &
(i) Monopolistic competition
Rrewge <A PR Afwfie
(i) Monopoly
GFCHIoY TEH
(iv) Perfect ‘competition

ofef efScarfareR TEN

[30]
( Continyeq )

2. Answer any five of the following questions in short : 2x5=10
O 2SR e Hebr vt Tew i

(@)

What is the basic difference in between micro- and
macro-economics?

TG S SRS NIAST T 727 “N1ef R 2

(p) What is trend projection method for demand forecasting?
PIRR SREIIA IR CFa© AT ATHAT 21fS e 2
(¢ What is the basic difference of ‘demand’ and ‘desire’ of
a consumer?
G (STER TR’ e RIR'T T I3 N R 2
‘(d) Write the basic distinction of opportunity cost and out of
pocket cost. ‘
SIS T S RF 1 R T TR N 2
(e) How is isocost line different from isoquant line?
SRR (R SR (I 2{T (AT 4T ?
(N Write the two features of perfect competitive market.
o T TR 1 L3R B
(g How is oligopoly market different from monopsony market?
FHERIFOR G I (FOR TGN /] (FCARS 99 ?
() How do you define money and money supply?
a1 T 4T IS R (FAe a2
3. Answer any four of the following questions : 5x4=20
oo 2pAd R R Bk e i -
(a) What are the factors determining change in demand?
TIRAA ARTER F1ee TomeTR 6 76 2
(b) Write diseconomies in large scale of production.
F2& R TeAIR (R 291 SR TS 91 |
A25/690 [31] ( Turn Over )



(c) What is price discrimination? What are the types of price
discrimination? 2+3=5

w1 fower & 2 wae fower Rivw aor & &2

(d) State how consumptions and savings are related to capital
formation.

{ﬂ@WW@ﬂWﬂWMﬁS?

() How is Business Economics different from Economics?

MRTe RS SRR /T TS YT ?

(N How is demand forecasting significant?

PR SRYKA @A SRR ?

4. Answer any one of the following -questions : 10
o 2P R e @i e

(a) Explain the law of demand and its limitation.
vz RR we TR TaRze! I |

(b) Explain the cost-output relationship in long run with suitable
diagram.
TR o TR T E TR TR 7 I 9 |

() How is price determined in perfect market competition?
Explain.
ofd eifcaIreR I 7 IS iR = 7 <o 4

(d) Whatis GNP? Analyze the process of determining GNP.  2+8=10
35 T8 Beorr R 2 3 TBW S e vl R 741

* Kk
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